

	Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type		District	Org. Code	
	171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL		SE	HCD	
Contractor		Ve	ndor ID	Address	City	State 715	.	Telenh	ione	F/

Contractor	Vendor ID	Address	City	State	ZIP	Telephone	FAX
Chester Bross Construction Company/C.B. Equipment, Inc.	0010528	P.O. Box 430	Hannibal	МО	63401	(57-3)2-21-5	(57-3)2-21-1

Job Number	Federal/State Project Number	Description of work	Route Number	County	Location of work
J9S3345	FAS-S702(033)	Seal coat	Υ	RIPLEY	from end of maintenance to Route 160
J9S3348	FAS-S702(034)	Seal coat	V	BUTLER	from Route 160 to end of maintanence
J9S3350	FAS-S702(035)	Seal coat	103	CARTER	from Route 60 to Route Z
J9S3351	FAS-S702(036)	Seal coat	EE	DUNKLIN	from Route 153 to Route 25
J9S3352	FAS-S702(037)	Seal coat	AB	HOWELL	from Route 160 to end of maintenance
J9S3353	FAS-S702(038)	Seal coat	U	RIPLEY	from Route 412 to edge of maintanence
J9S3355	FAS-S702(039)	Seal coat	В	TEXAS	from Route 63 to Route 137
J9S3356	FAS S702(16)	Seal coat	W	WAYNE	from end of maintenance to Route O
J9S3356	FAS S702(16)	Seal coat	W	BUTLER	from end of maintenance to Route O

Critical Date	Actual Date	Key Date	Subject	Date Contractor Assumed Maintenance	Disturbed Area on Project	Authorized Area on Project	
Price Adjustments Base Date	0				0	0	Acres
Contract Items Complete Date	0						
Physical Work Complete Date	0						

,	1 -
Contract Items Complete Date	0
Physical Work Complete Date	0
Letting Date	20171215
Execution Date	20180104
Award Date	20180104
Notice to Proceed Date	20180205
Original Completion Date	20181001
Work Begin Date	20181004
Open to Traffic Date	20190615
Adjusted Completion Date	20190615
Substantial Work Complete Date	20190626
Final Acceptance Date	20200218

Totals				
by Job				
Number				
J9S3345		To Date	Previous	This estimate
	Participating	\$132,018.40	\$132,018.40	\$0.00
	Non-	\$0.00	\$0.00	\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

		171215-H04	0012	August 16, 2019	August 22, 2019 August 22, 2019	FINL	SE	HCD	
Totals									
by Job									
Number									
	Participating								
	Total	•	0001010		4400 040 40				40.00
	Earnings	\$1	32,018.40		\$132,018.40				\$0.00
	Stockpiled		\$0.00		\$0.00				\$0.00
	Materials		\$0.00		\$0.00				\$0.00
	Gross	¢ 1	32,018.40		\$132,018.40				\$0.00
	Earnings	Ψι	32,010.40		φ132,010.40				Ψ0.00
	Other	(\$7,000.00)		(\$7,000.00)				\$0.00
	Adjustments	(,		,				
	Retainage		\$0.00		\$0.00				\$0.00
	Incentive		\$0.00		\$0.00				\$0.00
	Disincentive		\$0.00		\$0.00				\$0.00
	Liquidated		\$1,500.00		\$1,500.00				\$0.00
	Damages Overrun								
	Adjustments		\$0.00		\$0.00				\$0.00
	Total:	¢ 1	26,518.40		\$126,518.40				
	Total.	Ψι	20,310.40		Total Payable:				\$0.00
J9S3348		•	To Date		Previous				This estimate
	Participating	4	67,442.62		\$67,442.62				\$0.00
	Non-		\$0.00		\$0.00				\$0.00
	Participating Total								
	Earnings	\$	67,442.62		\$67,442.62				\$0.00
	Stockpiled								
	Materials		\$0.00		\$0.00				\$0.00
	Gross								
	Earnings	\$	67,442.62		\$67,442.62				\$0.00
	Other		* = 000 00\		(A.E. 0.0.0.0.0.)				# 0.00
	Adjustments	(;	\$5,382.00)		(\$5,382.00)				\$0.00
	Retainage		\$0.00		\$0.00				\$0.00
	Incentive		\$0.00		\$0.00				\$0.00
	Disincentive		\$0.00		\$0.00				\$0.00
	Liquidated		\$0.00		\$0.00				\$0.00
	Damages		ΨΟ.ΟΟ		ψ0.00				φυ.υυ
	Overrun		\$0.00		\$0.00				\$0.00
	Adjustments								Ψ3.00
	Total:	\$	62,060.62		\$62,060.62				00.00
					Total Payable:				\$0.00
J9S3350			To Date		Previous				This estimate
	L								



Adjustments **Total:**

Contractor's Payment Estimate Summary

		Contract ID 171215-H04	Estimate Number 0012	Pay Period Start August 16, 2019		Date Generated August 22, 2019	FINL	District SE	Org. Code
		1/1215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	нсь
tals Job nber									
	articipating	9	558,721.00		\$5	8,721.00			
Pa	on- articipating Total		\$0.00			\$0.00			
Ea	arnings ockpiled	\$	558,721.00		\$5	58,721.00			
Ma	aterials Gross		\$0.00			\$0.00			
Ea	arnings her		558,721.00			58,721.00			
	ljustments	(\$7,181.82)		(\$	7,181.82)			
Re	etainage centive		\$0.00 \$0.00			\$0.00 \$0.00			
	sincentive		\$0.00			\$0.00			
Da	quidated amages		\$0.00			\$0.00			
Ac	/errun ljustments		\$0.00			\$0.00			
Тс	otal:		551,539.18			51,539.18 Payable:			
3351			To Date			Previous			
	articipating	9	64,659.25		\$6	4,659.25			
Pa	on- articipating		\$0.00			\$0.00			
Ea	Total arnings	9	664,659.25		\$6	64,659.25			
Ma	ockpiled aterials Gross		\$0.00			\$0.00			
Ea	arnings her	9	664,659.25		\$6	64,659.25			
Ac	ljustments		\$0.00			\$0.00			
	etainage		\$0.00			\$0.00			
	centive		\$0.00			\$0.00			
Lic	sincentive quidated amages		\$0.00 \$0.00			\$0.00 \$0.00			
0/	amages /errun liustments		\$0.00			\$0.00			

\$64,659.25

\$64,659.25



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

		171215-H04 0012	August 16, 2019 August 22, 2019 August 22,	2019 FINL	SE I	нср
Totals						
by Job						
Number						
			Total Payable:			\$0.00
J9S3352		To Date	Previous			This estimate
000002	Participating	\$94,544.76	\$94,544.76			\$0.00
	Non-					
	Participating	\$0.00	\$0.00			\$0.00
	Total	\$04.544.70	Φ04.544.7C			\$0.00
	Earnings	\$94,544.76	\$94,544.76			\$0.00
	Stockpiled	\$0.00	\$0.00			\$0.00
	Materials	Ψ0.00	Ψ0.00			Ψ0.00
	Gross	\$94,544.76	\$94,544.76			\$0.00
	Earnings	φο 1,ο 1 111 ο	φο .,σ · σ			45.55
	Other	(\$1,799.82)	(\$1,799.82)			\$0.00
	Adjustments Retainage	\$0.00	\$0.00			\$0.00
	Incentive	\$0.00	\$0.00			\$0.00
	Disincentive	\$0.00	\$0.00			\$0.00
	Liquidated					
	Damages	\$0.00	\$0.00			\$0.00
	Overrun	\$0.00	\$0.00			\$0.00
	Adjustments					\$0.00
	Total:	\$92,744.94	\$92,744.94			
			Total Payable:			\$0.00
J9S3353		To Date	Previous			This estimate
	Participating	\$55,999.95	\$55,999.95			\$0.00
	Non-	\$0.00	\$0.00			\$0.00
	Participating	Ψ0.00	Ψ0.55			ψο.σσ
	Total	\$55,999.95	\$55,999.95			\$0.00
	Earnings Stockpiled					
	Materials	\$0.00	\$0.00			\$0.00
	Gross					
	Earnings	\$55,999.95	\$55,999.95			\$0.00
	Other	(\$7.054.00\)	(\$\frac{1}{2}\) 25.4.00\			ФО ОО
	Adjustments	(\$7,254.00)	(\$7,254.00)			\$0.00
	Retainage	\$0.00	\$0.00			\$0.00
	Incentive	\$0.00	\$0.00			\$0.00
	Disincentive	\$0.00	\$0.00			\$0.00
	Liquidated	\$0.00	\$0.00			\$0.00
	Damages Overrun	\$0.00	\$0.00			\$0.00
	Overruit	φυ.υυ	\$0.00			φυ.υυ



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

		171215-H04 0012	August 16, 2019 August 22, 2019 August 22, 20	19 FINL	SE	HCD	
Totals by Job Number							
	Adjustments						
	Total:	\$48,745.95	\$48,745.95				
		, ,	Total Payable:				\$0.00
J9S3355		To Date	Previous				This estimate
	Participating	\$90,733.88	\$90,733.88				\$0.00
	Non-						
	Participating	\$0.00	\$0.00				\$0.00
	Total	***	400 700 00				40.00
	Earnings	\$90,733.88	\$90,733.88				\$0.00
	Stockpiled	Φ0.00	CO OO				#0.00
	Materials	\$0.00	\$0.00				\$0.00
	Gross	\$90,733.88	\$90,733.88				\$0.00
	Earnings	φ90,733.66	φ90,733.00				φυ.υυ
	Other	(\$1,800.36)	(\$1,800.36)				\$0.00
	Adjustments	· · · · · ·	· · · · · · · · · · · · · · · · · · ·				
	Retainage	\$0.00	\$0.00				\$0.00
	Incentive	\$0.00	\$0.00				\$0.00
	Disincentive	\$0.00	\$0.00				\$0.00
	Liquidated	\$0.00	\$0.00				\$0.00
	Damages	•					
	Overrun Adjustments	\$0.00	\$0.00				\$0.00
	Total:	\$88,933.52	\$88,933.52				
	i otai.	φ00,933.3 <u>2</u>	Total Payable:				\$0.00
J9S3356		T. D. (.	•				
1933330	Participating	To Date \$135,312.30	Previous \$135,312.30				This estimate \$0.00
	Non-						
	Participating	\$0.00	\$0.00				\$0.00
	Total						
	Earnings	\$135,312.30	\$135,312.30				\$0.00
	Stockpiled	**	***				40.00
	Materials	\$0.00	\$0.00				\$0.00
	Gross	0405.040.00	#405.040.00				00.00
	Earnings	\$135,312.30	\$135,312.30				\$0.00
	Other	(\$5.393.00\)	(\$5,382.00)				\$0.00
	Adjustments	(\$5,382.00)	· · · · · · · · · · · · · · · · · · ·				
	Retainage	\$0.00	\$0.00				\$0.00
	Incentive	\$0.00	\$0.00				\$0.00
	Disincentive	\$0.00	\$0.00				\$0.00
	Liquidated	\$0.00	\$0.00				\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

Totals by Job Number				·		
	Damages Overrun Adjustments	\$0.00	\$0	.00		\$0.00
	Total:	\$129,930.30	\$129,930 Total Paya l			\$0.00

Total Contract				
171215-H04		To Date	Previous	This Estimate
	Line Item Pay	\$699,432.16	\$699,432.16	\$0.00
	All Adjustments	(\$34,300.00)	(\$34,300.00)	\$0.00
	Total	\$665,132.16	\$665,132.16	\$0.00

If the "This Estimate" total is greater then \$100.00, this is a Pay estimate. If the "This Estimate" total is equal to \$0.00, this is a No Pay estimate. If the "This Estimate" total is between \$100.00 and \$0.00, this is a Minimum estimate and no payment will be made. This estimate will be rejected. If the "This Estimate" total is less than \$0.00, this is a Negative estimate and no payment will be made. This estimate will be rejected. You will be notified should this estimate be rejected for reasons other than those listed above.

Approval Date		User ID
20200312	Generated and Approved (and should be considered Draft) at the Project Office Level by	hillsd1
20200313	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	holdtc
20200318	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Contract Amount			% of current contract amount complete
\$736,063.60	(\$36631.45)	\$699,432.15	100.0%

Contract Adjustments:		
Line Item Adjustments:		-
Discrepancies:		
All Items, This Estimate:		

- 6 of 10 - Revised 05/12/14



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

Estimate	Item Detail	, All Item	s to Date:					
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J9S3345	0001	0010	4099912	MISC. SAND SEAL EMULSION	28,363.00	28363.00	\$2.05	\$58,144.15
J9S3345	0001	0020	4139905	MISC. SAND SEAL AGGREGATE	120,287.00	120287.00	\$0.31	\$37,288.97
J9S3345	0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00
J9S3345	0001	0040	6161005	CONSTRUCTION SIGNS	589.00	589.00	\$6.30	\$3,710.70
J9S3345	0001	0050	6161009	FLAG ASSEMBLY	2.00	2.00	\$21.00	\$42.00
J9S3345	0001	0060	6161025	CHANNELIZER (TRIM LINE)	8.00	8.00	\$21.00	\$168.00
J9S3345	0001	0070	6181000	MOBILIZATION	0.00	0.00	\$13000.00	\$0.00
J9S3345	0001	0071	6181000	MOBILIZATION	1.00	1.00	\$7804.00	\$7,804.00
J9S3345	0001	0800	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	107,921.00	107921.00	\$0.09	\$9,712.89
J9S3345	0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	103,502.00	103502.00	\$0.09	\$9,315.18
J9S3348	0001	0100	4099912	MISC. SAND SEAL EMULSION	10,611.00	10611.00	\$2.05	\$21,752.55
J9S3348	0001	0110	4139905	MISC. SAND SEAL AGGREGATE	47,364.00	47364.00	\$0.42	\$19,892.88
J9S3348	0001	0120	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00
J9S3348	0001	0130	6161005	CONSTRUCTION SIGNS	507.00	507.00	\$6.30	\$3,194.10
J9S3348	0001	0140	6161009	FLAG ASSEMBLY	4.00	4.00	\$21.00	\$84.00
J9S3348	0001	0150	6161025	CHANNELIZER (TRIM LINE)	9.00	9.00	\$21.00	\$189.00
J9S3348	0001	0160	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00
J9S3348	0001	0170	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	34.00	34.00	\$21.00	\$714.00
J9S3348	0001	0180	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	41,342.00	41342.00	\$0.11	\$4,547.62
J9S3348	0001	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	38,133.00	38133.00	\$0.09	\$3,431.97
J9S3350	0001	0200	4099912	MISC. SAND SEAL EMULSION	9,780.00	9780.00	\$2.05	\$20,049.00
J9S3350	0001	0210	4139905	MISC. SAND SEAL AGGREGATE	44,041.00	44041.00	\$0.32	\$14,093.12
J9S3350	0001	0220	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00
J9S3350	0001	0230	6161005	CONSTRUCTION SIGNS	444.00	444.00	\$6.30	\$2,797.20
J9S3350	0001	0240	6161009	FLAG ASSEMBLY	4.00	4.00	\$21.00	\$84.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

Estimate	Item Detai	l, All Item	s to Date:					
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J9S3350	0001	0250	6161025	CHANNELIZER (TRIM LINE)	8.00	8.00	\$21.00	\$168.00
J9S3350	0001	0260	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00
J9S3350	0001	0270	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	39,348.00	39348.00	\$0.11	\$4,328.28
J9S3350	0001	0280	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	39,610.00	39610.00	\$0.09	\$3,564.90
J9S3351	0001	0290	4099912	MISC. SAND SEAL EMULSION	11,389.00	11389.00	\$2.05	\$23,347.45
J9S3351	0001	0300	4139905	MISC. SAND SEAL AGGREGATE	55,227.00	55227.00	\$0.31	\$17,120.37
J9S3351	0001	0310	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00
J9S3351	0001	0320	6161005	CONSTRUCTION SIGNS	507.00	507.00	\$6.30	\$3,194.10
J9S3351	0001	0330	6161009	FLAG ASSEMBLY	4.00	4.00	\$21.00	\$84.00
J9S3351	0001	0340	6161025	CHANNELIZER (TRIM LINE)	9.00	9.00	\$21.00	\$189.00
J9S3351	0001	0350	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00
J9S3351	0001	0360	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	20.00	20.00	\$21.00	\$420.00
J9S3351	0001	0370	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	49,014.00	49014.00	\$0.11	\$5,391.54
J9S3351	0001	0380	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	14,181.00	14181.00	\$0.09	\$1,276.29
J9S3352	0001	0390	4099912	MISC. SAND SEAL EMULSION	16,308.00	16308.00	\$2.05	\$33,431.40
J9S3352	0001	0400	4139905	MISC. SAND SEAL AGGREGATE	84,088.00	84088.00	\$0.37	\$31,112.56
J9S3352	0001	0410	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00
J9S3352	0001	0420	6161005	CONSTRUCTION SIGNS	444.00	444.00	\$6.30	\$2,797.20
J9S3352	0001	0430	6161009	FLAG ASSEMBLY	4.00	4.00	\$21.00	\$84.00
J9S3352	0001	0440	6161025	CHANNELIZER (TRIM LINE)	8.00	8.00	\$21.00	\$168.00
J9S3352	0001	0450	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00
J9S3352	0001	0460	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	22.00	22.00	\$21.00	\$462.00
J9S3352	0001	0470	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	68,800.00	68800.00	\$0.11	\$7,568.00
J9S3352	0001	0480	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	60,240.00	60240.00	\$0.09	\$5,421.60
J9S3353	0001	0490	4099912	MISC. SAND SEAL EMULSION	8,603.00	8603.00	\$2.05	\$17,636.15



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

Estimate Item Detail, All Items to Date:									
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date	
J9S3353	0001	0500	4139905	MISC. SAND SEAL AGGREGATE	41,524.00	41524.00	\$0.35	\$14,533.40	
J9S3353	0001	0510	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00	
J9S3353	0001	0520	6161005	CONSTRUCTION SIGNS	448.00	448.00	\$6.30	\$2,822.40	
J9S3353	0001	0530	6161009	FLAG ASSEMBLY	2.00	2.00	\$21.00	\$42.00	
J9S3353	0001	0540	6161025	CHANNELIZER (TRIM LINE)	9.00	9.00	\$21.00	\$189.00	
J9S3353	0001	0550	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00	
J9S3353	0001	0560	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	37,372.00	37372.00	\$0.11	\$4,110.92	
J9S3353	0001	0570	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	33,662.00	33662.00	\$0.09	\$3,029.58	
J9S3355	0001	0580	4099912	MISC. SAND SEAL EMULSION	16,093.00	16093.00	\$2.05	\$32,990.65	
J9S3355	0001	0590	4139905	MISC. SAND SEAL AGGREGATE	81,959.00	81959.00	\$0.36	\$29,505.24	
J9S3355	0001	0600	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00	
J9S3355	0001	0610	6161005	CONSTRUCTION SIGNS	540.00	540.00	\$6.30	\$3,402.00	
J9S3355	0001	0620	6161009	FLAG ASSEMBLY	4.00	4.00	\$21.00	\$84.00	
J9S3355	0001	0630	6161025	CHANNELIZER (TRIM LINE)	8.00	8.00	\$21.00	\$168.00	
J9S3355	0001	0640	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00	
J9S3355	0001	0650	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	61,040.00	61040.00	\$0.11	\$6,714.40	
J9S3355	0001	0660	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	48,551.00	48551.00	\$0.09	\$4,369.59	
J9S3356	0001	0670	4099912	MISC. SAND SEAL EMULSION	28,308.00	28308.00	\$2.05	\$58,031.40	
J9S3356	0001	0680	4139905	MISC. SAND SEAL AGGREGATE	146,991.00	146991.00	\$0.25	\$36,747.75	
J9S3356	0001	0690	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$250.00	\$500.00	
J9S3356	0001	0700	6161005	CONSTRUCTION SIGNS	630.00	630.00	\$6.30	\$3,969.00	
J9S3356	0001	0710	6161009	FLAG ASSEMBLY	4.00	4.00	\$21.00	\$84.00	
J9S3356	0001	0720	6161025	CHANNELIZER (TRIM LINE)	9.00	9.00	\$21.00	\$189.00	
J9S3356	0001	0730	6181000	MOBILIZATION	1.00	1.00	\$13000.00	\$13,000.00	
J9S3356	0001	0740	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	10.00	10.00	\$21.00	\$210.00	



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H04	0012	August 16, 2019	August 22, 2019	August 22, 2019	FINL	SE	HCD

Estimate Item Detail, All Items to Date:									
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date	
J9S3356	0001	0750	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	125,178.00	125178.00	\$0.09	\$11,266.02	
J9S3356	0001	0760	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	121,932.00	121932.00	\$0.09	\$10,973.88	
J9S3345	0001	5001	6181000	MOBILIZATION Misc. Mobilization	1.00	1.00	\$5196.00	\$5,196.00	
J9S3345	0001	5002	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$68.25	\$136.50	
J9S3348	0001	5101	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$68.25	\$136.50	
J9S3350	0001	5201	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$68.25	\$136.50	
J9S3351	0001	5301	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$68.25	\$136.50	
J9S3352	0001	5401	6161008	ADVANCED WARNING RAIL SYSTEM	0.00	0.00	\$68.25	\$0.00	
J9S3353	0001	5501	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$68.25	\$136.50	
J9S3355	0001	5601	6161008	ADVANCED WARNING RAIL SYSTEM	0.00	0.00	\$68.25	\$0.00	
J9S3356	0001	5701	6161008	ADVANCED WARNING RAIL SYSTEM	5.00	5.00	\$68.25	\$341.25	

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Remarks in the following table are for documentation purposes:

Date User ID Remarks Text Field